10-00000616-001
159 158 125

FP-3 V4 T L f
20.03.2018 '

160
~
L+
160
~
-
L
125
~
|
-]

250 ) Ly = A+sy+ay+B . 250 Lx = D+sx+ax+E 424,
201 A | _Hub, sorse, stroke = ay+sy B D, Hub, sorse, stroke = ax+sx E |
176
19.50
|22V
S [ A
= = X > _ |
NS — ”
g g YU N7
" 4T S B A —
3 | b, — 17l
B 0200 2 7 * - K
¥ iy
s | w %
_IE 1 — - 159 -
(%) (@] +
= n| W
i 250 || |450 Al
B4
700 Aé 500
@ 566
766 g Y
§ 175
ey
E . 19.50
gl
EIE 5
o |
L
o
2.50 N
158
———

B-B A-A
_ 350
T R ]
600 ,3x100 = 300, 600 - = =
g
B [=)
n " o o e o . o ° o o ° J 105
5 S AN
A £ > T T e 7Y — v T T T T\
| 125

17




	Blatt1
	Zeichenansicht1
	Zeichenansicht2
	Zeichenansicht3
	Schnittansicht A-A
	Zeichenansicht5
	Zeichenansicht6
	Zeichenansicht7
	Zeichenansicht8
	Zeichenansicht9
	Zeichenansicht10
	Schnittansicht B-B


